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1 17

S = =17+4=435
177

T8 ri10=47
10 10

4259} 4.7A}0]9] A= 4.65 YU Th




7. Zu¥lol7F 726 cm? Q1 HS A 9] F WHO| YolE FoHA Q.

® 81cm? @ 100 cm? @121cm2
@ 144 cm? ® 169 cm?
(A5HA Q] 2y o) = (2 Hel Hol) x

49
(3 A Wol) =726+ 6 = 121(cm?)




2o g7]0] HLHAE o] A BobA 712 32cm, AR 44 cm, =0]
80cm?l Atk A SHAE WEHT Yt FHEE 2 HSAAE
AHEE o, ASHA O] o A2 o] dolet HQtt HKAA Y eE
T-to] At = 2AA Q.

> & cm
> 7R
> &HE: 4em

> ®eh: 176074

S5 ~
A2 2 HSAAE AR R gt Ao Aol 32, 44,
809 JJEH%"’ 2l 4cm 7}t Fojof gt
Q3 AW O] A5 71E 324 = (W), AR 444 = 11(
7H), =01 80 +4 = 20( 7H) A BRSFER 8 x 11 x 20 = 1760(
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